DN

JAO0v 74 F7YU NT2ZW-210K-WY
BE| & 2 |# s B B %
1 xvw 7 | 1 |oneE i
2 | A mm | 1 [7nizousg 77 N E% BE
3| R & | 6 [Fun-fi-tEE ae B
4 | B B | 6 |onEE B &
5 | = B | 1 | STK400ER®- & HEBEEE Of
6 | E»2y | 3 |SUS(M5x10) RARMIEDZ Y
7 |s>meea | 1 | SPHC BRBED > &
8 |#nt-rvt| 2 [ (M8x60) BRED®- &
9 [7vn-#wt| 3 | (M8x70) BREH®- &
| NEES | KDEH00003% 1

* REREHAL. BREXT VALY Y XER
¥ 7Y h-Kh MISEITAARBRL 7Y - EA(FY LES8.5. FE40mm)

, @_ ,
“N’ |
<:>//’ A S A
v Al 7 0
° <
. , R
M~ M f
= ‘
= ol 2-410 3—¢12
¢ @(M8X 60,N,SW,Wx 3) @(M8X7O TYR-EN L)
4/ . "
4 ')
X g I -
' N'——T '49' y < ar *
—— |
$ 34x12.3x 950 | ‘ 0
D & b s gl = s | 13 Q
I.\Q]g 2 + =
| ol =
o éﬁ T 4 \ | > -
« | %
|40 20| 30| |20
90 70

FEN S=1/10 (H&O2EH2EHBY S=1/5 A-AWERN S=1/2




